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1) Given the graph of a function, find the requesTed values.

lim 7(x)=

x—>=2

lim 7(x)=

x—>-3

lim 7 (x)=

x—>—1*

lim 7 (x) =

x—1"

lim 7 (x) =

x—3*

lim 7 (x) =

X——

)\

FanY
\

lim f(x)—

X2

lim 7 (x)=

x—-3

lim 7 (x) =

x—>-1"

lim 7 (x)=

x—1"

lim 7 (x) =

x—=37

im 7 (x) =

x—4

Jim 7 (x) = f(-2)
lim 7(x) = £(-3)

lim 7 () = F(-1)
lim# (x) = £(1)=
lim 7 (x) = £(3)=
lim 7 (x) =

X =0



2) Given the graph of a function, find the requested values.
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Im 7)< m 7~ lim () -
fin 7= Ji ()= i () -
fin 7) = lim £) = inf (x)-
Imfe= - iy ()=
fin £)- fin ) im# ) -
lim 7(x) = lim £ (x)= lim 7 (x) =
lim 7 (x) = lim 7 (x) =

X—>0 X ==




